EARAROBEEIERT — 2 N— IBISH —F

20165E3A31H (K) 27EZ&HE4H

IR S C44 C4 45%—M (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :160,000  ~ 2#&:29,000 M  3#&:11,000M”  437%&:8,00H ~ 5%&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4| TLA—N 52— Ho4 fﬁﬁ‘gféﬂ% 1:32.0 1-1-1-1 | 39.0| — 1 511 gclgii (BEE)
. — xR
QivX I Ny THY BFALANY -k =) 2 imss
5 3| 7zUYE-—F2 4 gi.a(a)m& 1:(353).0 3-3-4-4 |39.7| — | 2 | 435 gﬁgﬁ (BHE)
QFA—TANT b BTURII Y~ )\ 5E e
3 o|T—Yr5— H 5 5”—7%%%* (1732,70) 5565 [39.5| — | 3 | 508 g‘éiﬁ (B&HE)
QARG WM =7 BiH— kD | mmas
alglg|77vy > 5 %%g%% 1:(343).8 2-2-2-2 | 40.7| — 4 435 gﬁiﬁ_ (BHE)
R:ZFAA-AE B:oOF1—3 #9) ik six
5/glg|=MNATasT> 48 %E%’& 1(/3;;33 4-4-3-3 | 40.6| — 5 445 (g?ﬁp(ﬁg%)
24 —FTAT—> BOvFHLZ 2 | Emugs
6 NEA=Pr AL IN it 6 E%’%ﬂ_ 1:(351).5 7-6-5-7 | 41.1| — 8 480 ﬁ%;?ﬂ;fjf%)l\ Coas
L:gA—I TlL BHY=Z—HA K7y T =3 HET77—L4
aRIRREE LSS # 9 ;Llué?r— 1:(314>.7 6-7-7-6 |41.0| — | 7 | 388 iﬁg%% (BHR)
. Bia
RTTU— b BITEAIT 9| Eoiss
8l5l5 552597 4 6 'sjél_%%ﬁ (1 2315/22) 8-8-8-9 |41.4| — 6 445 ’r’{g%fru —%E%)
QP N—pLRY— Bk #) | grpatsnmgs
9l7l7 | XTIV R= # 6 ggg%%m 1(13/52.>3 9-9-9-8 |41.4| — | 9 | 52 ﬁzggﬁi _(;5?/%)
RiZa—A2TFUR BT v 9 | ex ma
® I—F—@EBIERL
12—F— |4,8,3,9,2,1,6,57
2o=3F= 4,8,3,9,2,6,1,5,7
J=7r= 4,8,9,3,6,2,1,5,7
41—F— 4,8,9,3,2,1,6,7,5
[ RN
B 4 110M 794K 3-4 140M % E 3-4 260/ &R 2-3-4 140M
# B 4 100 2-4 1204 B E 3-4 220 EE 4-3-2 320/
3 110 2-3 120M B H 4-3 220M
2 110/

ABICOVWTRDTEEERROODE. TR LIV,




